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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

76- Her grandmother was burnt to death ... the age of 79 when her house was on fire.
Sadly, there was nobody ... the house to help her escape.
l)in/in 2)at/in
3)at/at 4)in/ at

77- Everybody knows that teachers are ... anybody else.
1) as capable of making mistakes as
2) the most capable of make mistakes as
3) more than capable of making mistakes of
4) the most capable of making mistakes than

78- We wouldn’t attend the meeting if we ... a bit earlier that it had been cancelled.
1) informed 2) are informed
3) were informing 4) were informed

79- ... TV programs was a great problem that the families were faced with during the quarantine.
1) Spending a lot of time watching
2) To spend a lot of time for watching
3) Spending a lot of time to watch
4) To spending a lot of time watching

80- Even if it has not been your habit throughout your life so far, | ... that you learn to think positively
about your body.
1) arrange 2) recommend
3) prevent 4) compare

81- The new manager addressing the members of the board of directors said that we had to manage
our available financial ... so reasonably that we could get rid of the trouble of being bankrupt.
1) resources 2) experiments
3) varieties 4) vibrations

82- The project is going to be carried out by a team of ... and thoughtful engineers. It is hoped to be
finished by the end of this year if everything goes well.
1) visible 2) surrounded
3) dedicated 4) changeable

83- Birds carry some seeds which stick to different parts of their bodies. They are more .... than wind
in transporting seeds to long distances.
1) recent 2) touching
3) effective 4) ashamed

84- Working in these ... may be extremely harmful to health, especially if you don’t wear any
protective clothes.
1) consumptions 2) connections
3) combinations 4) conditions

85- Until the sixteenth century, the idea that the Earth moves around the Sun was ... as an unbelievable
idea, whereas today we accept this concept as something completely normal.
1) suggested 2) regarded
3) transmitted 4) invented
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86- There are two types of dictionary you can use. The first type gives you a translation of a word, and
the second type which is called ... , explains the word in the same language.
1) monolingual 2) bilingual
3) traditional 4) general

87- The editor avoids publishing my book, believing that some sentences have been ... translated. He
required me to edit it and correct the mistakes | have made.
1) greatly 2) widely
3) honestly 4) wrongly

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

French and English are the two main languages in Canada. This is because, as early as the 1500s,
many people from France and England settled in Canada. However, by the time the Europeans
arrived, people had already lived in Canada for ...(88)... . When the Europeans came, they met many
...(89)... groups of people. The groups had their own customs, traditions, languages, and religions. In
the far north of Canada, in the Canadian Arctic, lived the people ...(90)... the Inuit. They still live
there today. The Inuit have a ...(91)... culture. For most of the year, the Canadian Arctic ...(92)...
with ice and snow, but the Inuit have learned how to survive there with limited resources.

88- 1) thousands year 2) year of thousands 3) thousands of years 4) a thousands year
89- 1) similar 2) available 3) absolute 4) diverse

90- 1) who were called 2) calling 3) that called 4) were called

91- 1) frightening 2) boring 3) rich 4) shocking

92- 1) should cover 2) is covered 3) may cover 4) are covered

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage 1
Picture writing was probably originated by men who lived centuries ago in a time that is called the
“Stone Age”. It has been used by many people since then. As people grew more civilized, some were
able to develop increasingly better ways of written communication than simple picture writing. In
about the year 3000 B.C., the Egyptians developed a written language in which written symbols
represented ideas. Such idea signs are called hieroglyphics.

Hieroglyphic writing was first used for curving on stone. Later, these signs were changed into a
different and simpler form, a system of signs that stood for the sounds of spoken language. The
Egyptians preferred this form for writing on a paper-like material called “papyrus”. The next logical
step, which the ancient Egyptians never took, would have been to organize these signs into alphabets.

93- Hieroglyphic writing was developed ... .
1) by the Stone Age people
2) much earlier than the Stone Age
3) Almost 3000 years ago
4) by people who were more civilized than the Stone Age people

94- According to the passage, ... .
1) hieroglyphic writing is more developed than picture writing
2) the Egyptians organized hieroglyphic signs into alphabets
3) the Stone Age people did not use any form of writing
4) in picture writing, symbols represent ideas
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95- Which of the following can be the best title for the passage?
1) Picture Writing 2) Stone Age People
3) Hieroglyphic Writing 4) Papyrus

96- The paragraph following the passage would probably discuss ... .
1) how to use hieroglyphic writing on stone
2) the reason why Egyptians didn’t organize the hieroglyphic signs
3) the paper-like material known as papyrus
4) why the Egyptians preferred papyrus to write on

Passage 2

Wind can help fly a kite, power a sailboat or spread seeds. Around the world, wind has also become
an increasingly popular and inexpensive source of energy that is converted into electricity.

At the National Wind Technology Center in Colorado, scientists are working to advance wind-power
technology. Wind is often considered an environmentally friendly source of power. Wind doesn’t
pollute the environment and is a renewable source of energy that can’t be used up like fossil fuels, such
as coal, oil, and natural gas.

Harnessing power from wind is nothing new. Some of the first windmills were used in Europe more
than 5,000 years ago. Today, modern windmills, called turbines, resemble airplane propellers and are
grouped together in wind farmes.

Despite the benefits, wind power is far from perfect. Opponents of wind farms say the biggest
problem is unreliability—when the wind doesn't blow, there is no power. They also argue that wind
turbines can be an eyesore and threaten birds and other wildlife that fly into the blades.

As of 2011, 38 states have wind farms. Those turbines provide enough power for more than a million
homes.

97- The main idea of this passage is that ... .
1) people have been using wind power for many years
2) wind power is environmentally friendly
3) wind power is an excellent source of energy

4) wind power is being used as a source of energy

98- Which of the following does NOT support the main idea?
1) Wind helps to fly kites and spread seeds.
2) Wind power is a renewable resource.
3) Scientists are trying to advance wind power technology.
4) Right now, in the United States, wind power gives electricity to a million homes.

99- The author seems to ... .
1) provide both sides of the argument
2) support the use of wind power
3) be trying to confuse the reader about wind power

4) be against the use of wind power

100-The underlined word “ threaten” in the last paragraph is closest in meaning to ... .
1) observe 2) attack
3) endanger 4) defend
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